11
e
- TIIIIIT Vs
D
BAHOXXO
PA3SMEP HA
HauMeHoBaHWe MAPKYYA PE3BA PA3SMEPU
DN| inch | anam. F D|S| A L
BAHOXXO 5 10x1 5 |3/16" 3 M10x1 ]10.1]10] 20 | 45
BAHOXKO 5 12x1,5 5 13/16" 3 M12x1,5[12.1]12] 21 | 46
BAHOXO 5 14x1,5 5 |3/16" 3 M14x1,5[14.1|14] 23 | 48
BAHOXXO 6 10x1 6 | 1/4" 4 M10x1 ]10.1]10| 24 | 52
BAHOXO 6 12x1,5 6 | 1/4" 4 M12x1,5[12.1]11] 23 | 51
BAHOXXO 6 14x1,5 6 | 1/4" 4 M14x1,5[14.1114] 23 | 51
BAHOXXO 6 16x1,5 6 | 1/4" 4 M16x1,5]16.1]17] 25 | 53
BAHOXXO 6 18x1,5 6 | 1/4" 4 M18x1,5118.1]20] 29 | 57
BAHOXXO 8 12x1,5 8 |5/16" 5 M12x1,5112.1|12] 23 | 52
BAHOXXO 8 14x1,5 8 |5/16" 5 M14x1,5114.1]114]24.5]52.5
BAHOXXO 8 16x1,5 8 |5/16" 5 M16x1,5116.1|17] 27 | 55
BAHOXXO 8 18x1,5 8 |5/16" 5 M18x1,5118.1]20] 29 | 57
BAHOXXO 8 20x1,5 8 |5/16" 5 M20x1,5]120.1]22] 28 | 56
BAHOXXO 8 22x1,5 8 |5/16" 5 M22x1,5122.1]22] 28 | 56
BAHOXXO 10 14x1,5 | 10] 3/8" 6 M14x1,5|14.1|14] 27 | 57
BAHOXXO 10 16x1,5 | 10 ] 3/8" 6 M16x1,5116.1|17] 27 | 57
BAHOXXO 10 18x1,5 | 10] 3/8" 6 M18x1,5]18.1]20] 28 | 58
BAHOXXO 10 20x1,6 | 10 ] 3/8" 6 M20x1,5]20.1]22]28.5]58.5
BAHOXXO 10 22x1,5 | 10| 3/8" 6 M22x1,5]22.1]122]28.5]58.5
BAHOXO 12 18x1,5 | 12] 1/2" 8 M18x1,5[18.1]20] 30 | 63
BAHOXO 12 20x1,5 | 12] 1/2" 8 M20x1,5]120.1]122] 34 | 67
BAHOXO 12 22x1,5 | 12] 1/2" 8 M22x1,5122.1122] 34 | 67
BAHOXO 12 26x1,5 | 12] 1/2" 8 M26x1,5]26.5]30]34.5]67.5
BAHOXKO 16 22x1,5 | 16| 5/8" 10 |M22x1,5|22.1122) 34 | 70
BAHOXO 16 26x1,5 | 16 ] 5/8" 10 | M26x1,5]26.5]30]134.5]70.5
BAHOXXO 20 26x1,5 | 20] 3/4" 12 | M26x1,5]|26.5130] 35 | 76
BAHOXXO 20 30x1,5 | 20] 3/4" 12 | M30x1,5]30.1]36]41.5]182.5
BAHOXO 25 30x1,5 [ 25] 1" 16 M30x2 ]130.1136|41.5]196.5




